50 Uoboounh

5.1 0O0OUO

gboobdabogboogboboobooobobuoboobobobobo oobabob
gobobooboooboobooboobobboobooboo

0+0=0, 0O+0=0, O0+0=0
OxO0=0, 0OxO0=0, OxO0=0

ubob 200000000000000 300000000000 0OO0ODOOO0O0OO0
o000 “«c0ooooroooboboo0o0oooo3oooooooooboooooooo
obobooobooo oboboo3ooob 10000 20000000 oCOoOoOOOo
0 R, ReOODUODODO0O0O0OOODOOODOODOODO DODO 300bboOobo oo
00 RyOOOODOODODO Ry=3Z0O0 ODOO0OOODOOO “30000 100000
ooooooooo 20000070000RM+R=R,0000000000000O
oooon0oonD Ry, Ry, RRO00O000DOO0O0O0ODOODOOCOOODOO

+ Ry Ri Ry X Ry Ri Rs
R(] Ro R1 RQ RO RO RO RO
R1 R1 R2 Ro Rl RO Rl RZ
R2 R2 R() Rl R2 RO RQ Rl

gobooooboooobooobooooboooooboooobooobooooooo o
003000010000 [ O000O0DOOOOODOOOODOOOOOODOOOOO
oboo0 i 000ooO0obO0oo0ob0oOo ooooboog j=0,1,20000

R;={neZz|nD 30000000 ;}

00000000000 000O00000 “000007000000000 00000
Ri+Ry,=Ry00000z€R,yeR, 0000000 z4y€R 00000000
000000000 00 “0000700000000000 00000000000
000000000000 R;00000000000000 R, 0000000000
0O0000000000000000000 00000000000000000000
000abeR,; (j=0,1,2)000 a—b0 3000000000 a—be3Z000 a,b
000 R, 00000000000
000000000000000000
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00 5.1 a,bpme Z00000ae—-bemZ 00000 m|(e—b)0000000O
a=b (modm)

O000e, b0 mOO0DOOOO0O0DOOO0O00ODO OOOOOOOODOOOODODOOOO

ooooooooooooboobooogooboboboo “corbobobooooo

e m=10000000 ,becZ00000 a=b(mod1)0000
e m=00000%%€0Z & 2=00000000a=0> (mod 0) & a=>5b0
e —mZ=mZOOOa=b (modm) < a=b (mod |m|)0

gobogobooobo nO00O0O0 2000000000000000
gboooboooooooboo

e a=a (mod m),
e a=b (mod m) = b=a (mod m),

e a=b, b=c (mod m) = a =c¢ (mod m)

gbooooboooobobooobOobooooboo00o0 ooooooooooooo
000 “0000”000000000000 O0O000D0O0O000..... 0

O00Om#£A0000000 «¢0 mO0O00O0O0O0 rU00000a=7r (modm) 00
gbooooobooo oooboo

a=b (modm) < b00000 »OOOOOOOOOO
gobobooobooboo ooobo
a=0 (modm) <= m]a.
ggooobbobbodooooobbobboooouobbbbouoooooobbo
00 5.2 abjeemeZ 0 a=b, c=d (modm) 00000000
at+c=b+d (modm), a—c=b—d (modm), ac=bd (modm)

gobooboooobooo

00 0000000 a=b+mz,c=d+my (z,y€ Z)0000000000000O0
goboboboobooboobooobooboo.ooboood O

goboboooooobooboooosooooooooooobooooobooooooon

Ri={neZ|n=j (mod3)} (=0,1,2)



5.2, OOOOOOO 3

ooo0dobd zeR,ye R, OODOOOODO0 z+ye Ry 00O

r=1 (mod3), y=2 (mod3) OO0 z2+y=0 (mod3)
gboooboobooboob bobou p>1000000000
l<d<p 000000 deZO0OO0D0 p#0 (modd)
gboooooboooooooboooooaon
ab=0 (modp) OOO0O a=0 (modp) OO0 b=0 (mod p)

gooooogob 420000000000000 ODOO0OOOODODOODOODOOO
gboooooboboobooboboooobooboooooboao
gbooboobooboobobooooboboooboob boooobooo

00 5.3 (1) m|nO00OOa=b (modn) 000 a=b (mod m)d
(2) dA200000a=b (mod m) <= ad = bd (mod md)O

() 00000000 0OD0ODOO0OUU00O0 DUOO0OO07=1(mod3) 0000 7#1
(mod 9) J0D0O0U0OO0OOOUOOOOOOOOOODOOO

5.2 JUOO0OODOOO

oooob s200000000000000000000O0O00DOODOODOOO
oboooooooooooooo

00 «,b 0000000 10000, b0000000D00000 OO0ODOOO0O m
gboooooboboooooboboooboobooooonoa

b 54 0000000 amdb00O0o0obOooOoOng

(1) az=1 (mod m) 0000 z€Z000000
(2) bce ZOOUOOOab=ac (modm) 000 b=c (mod m)0

00 (1) ged(a,m) =100 az+my=1(x,y € Z)0000000000 ax—1=—my
OmO000D0000 ar=1 (mod m)O
(2) ab=ac (modm) 0000 (1)0 c000OO0O0OOOO O

00000 (1) 000000 000 mOO0O0O « 0000000 0OD0OOD0OOOO
0000000000z, 0000 « 00 mO0O0O00O000002z=2" (modm) O
oboooooobooobooboo boooo mO0O0OO0O0ObOOOO0O0OO0O0O000O0O
goooogoo
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055 () 7-2=14=1(mod 13) JO0200 130000 70000000 0OOO
7-8=56=1(mod 11) 00000 110000 7000000 800000

(2) 140000000000 20000 72=00007 (mod14) 000000000
obo 700 4000000000000

uoboobbo eembboOoboOoOooOoOD0 mO0O0O0 «O000O0D0OO0ODOOODOO
00000 0000 mOUOO0 «000 2000000 axz=14+my(yeZ)0O0OO
0000000000 3200 ged(e,m)=1000000 D0O0O0O0OO0 mO000O a
oboooboobobbbbUbe,mboo0ooboOoo0ooboOobOo0obOOobD bOoboOoo

ged(a,m)=1 <= ar=1 (modm)0000 z€Z000000

O000OpO0000O00Oa#0 (modp) 0000O0D0OO «O0O00O0O0O pOOOO
gooooooboo

O0O0|m|#£10000 az=0 (modm) 00 20 (modm) 0000 2 Z0O0O0O
O000U0e00 mO0OUOO0OOOOUOOOOO0OOO0OOODOOO02:3=0 (mod 6)02,3#£0
(mod 6) 000020 3000000 600000000000 UDO00OOOOOOOOO
000000000000000 0:-1=0, 120 (modm) 00000

00 5.6 a,me Z (m|#£1) 000000000000

(i) e, m OOOOODOOO
(i) 0 mOUOODO «0O0O0OOOOOOO
(iii) «e 0 O mOOOOODOOOOOOO

00 ()0 ()00000000000000000000000(G)0 ((i)0o00oo
ooo

(i) = (iii): 00 00 mOOOU « 0000000 000« 00D0ODO0ODO0ODOOOO
az=0, z#0 (mod m) 0D 0O0O0O 000000

z=1-z=(ax)z=z(az) =2-0=0 (mod m)

000000000 000 « 000000000
(i) = (i) 0000000 000 || 00000000 mO0000000000
a*=dl (modm) 0000000 k<I0000D0000 00000

a*(@=*F —1)=0 (mod m)

000000000 ¢« 00 mOO0O000000000006¢*~1=0 (modm) D000
0000000 0000006 =1 (modm) 00000 mO00D0 «000O00O0
00 o *l0ooooooooooon O



